

Name: OGINI BLESSING OGHENEFEJIAO

Dept: MBBS

Matric NO: 19/MHS01/291

Course code: MAT1024

(1) $y - 3x - 2 = 0$ and $3y + x + 9 = 0$

Let $M_1 = y = 3x + 2$

Let $M_1 = y = 3x + 2$

$$\frac{dy}{dx} = 3 + 0 = 3$$

$$3y + x + 9 = 0$$

$$3y = -x - 9 \text{ divide through by } 3$$

$$y = \frac{-x}{3} - \frac{9}{3} = \frac{-x}{3} - 3$$

Let $M_2 = y = \frac{-x}{3} - 3$

$$\frac{dy}{dx} = \frac{-1}{3} - 0 = \frac{-1}{3}$$

To find if they are perpendicular using

$$m_1 \times m_2 = 3 \times \frac{-1}{3} = -1$$

Therefore $y - 3x - 2 = 0$ and $3y + x + 9 = 0$ are

(2) $3y - 4 = 2x + 3$

$$3y = 2x + 3 + 4$$

$$3y = 2x + 7$$

divide through by 3

$$y - 5 = x + 6$$

$$y = x + 6 + 5$$

$$y = x + 11$$

Let $M_2 = y = x + 11$

$$\frac{dy}{dx} = 1 + 0 =$$

... are perpendicular using

$$m_1 \times m_2 = \frac{2}{3} \times -\frac{1}{2} = -1$$

Therefore $y - 3x - 2 = 0$ and $3y + x + 9 = 0$ are perpendicular.

(2) $3y - 4 = 2x + 3$
 $3y = 2x + 3 + 4$
 $3y = 2x + 7$

Divide through by 3

$$y = \frac{2x + 7}{3}$$

Let $m_1 = y = \frac{2x + 7}{3}$

$$\frac{dy}{dx} = \frac{2 + 0}{3} = \frac{2}{3}$$

$$m_1 m_2 = \frac{2}{3} \times 1 = \frac{2}{3}$$

Therefore $3y - 4 = 2x + 3$ and $y - 5 = x + 6$ are not perpendicular.

$$y - 5 = x + 6$$

$$y = x + 6 + 5$$

$$y = x + 11$$

Let $m_2 = y = x + 11$

$$\frac{dy}{dx} = 1 + 0 = 1$$

$$3. \quad x^2 + y^2 + 30xy - 11 = 0$$

$$2x + 2y \frac{dy}{dx} + 3(x \frac{dy}{dx} + y) - 0 = 0$$

$$2x + 2y \frac{dy}{dx} + 3x \frac{dy}{dx} + 3y = 0$$

$$2y \frac{dy}{dx} + 3x \frac{dy}{dx} = -2x - 3y$$

$$\frac{dy}{dx} (2y + 3x) = -2x - 3y$$

$$\frac{dy}{dx} = \frac{-2x - 3y}{2y + 3x}$$

$$m = \left. \frac{dy}{dx} \right|_{x=1, y=2} = \frac{-2(1) - 3(2)}{2(2) + 3(1)} = \frac{-2 - 6}{4 + 3}$$

$$m = \frac{-8}{7}$$

$$y - y_1 = m(x - x_1)$$

$$y - 2 = -8/7(x - 1)$$

$$7(y - 2) = -8(x - 1)$$

$$7y - 14 = -8x + 8$$

$$7y + 8x - 14 - 8 = 0$$

$$7y + 8x - 22 = 0 \rightarrow \text{Eqn of tangent.}$$

$$m = -1/m = -1/(-8/7) = 7/8$$

$$y - y_1 = -1/m(x - x_1)$$

$$y - 2 = 7/8(x - 1)$$

$$8(y - 2) = 7(x - 1)$$

$$8y - 16 = 7x - 7$$

$$8y - 7x - 16 + 7 = 0$$

$$8y - 7x - 9 = 0 \rightarrow \text{eqn of normal}$$